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. Whoreas the hydrogen paroxide osnnot be reoovored ae such -from very mny:ll‘
of 11:3 m-gani.o compounds, the addition compounds.of acetone and hydrogen’ peroxide -
- whioh will be oalled here: acetone peroxide for the sake of brevity oan e more-or-: -
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. ight | of ethyl aloohol amd 160 part Aby weight ! lo-
< i‘;.»Subeequently. 'bhe ethanol {o distilled’ ‘off under: yaouum. " The: agueous: regis
-due. contains, ‘besides oulphur:e e,e:lc_l“", "'ajiparte by weight ef hydrogen peroxide
'eomeponding o B’W of *bhe aetive oxygen oharged. ro g :
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--of mothanol.-and- 100 -parts- by weight-of 6% eulphurio -a0id-1g- rei‘l\nzed for-16-minutes,
Subsequently, the methanol is distilled off under redused pressuro. 'The residus
contains 4,6 parts by weight of hydrogen perox:lde oerreaponding to 827 of the. aotiw

oxygen oharged.
Exemple 3

"~ 12 parts by weight of acetone peroxide are refluxed with.200. parts by .
veig;hb of acetons and 50 parts by weight of 10# sulphurio aoid for 30 minutes. The
acetone is thon distilled off under vacuum., The residue contains 3.6 parts by
wa:lght of lwdrogen peroxide eorreeponding to 667 of the active oxygen olnrged.

- Claims \

' Proeeee for the mamifacture of hydrogen peroxide by acid hydrolysis of
acotone peroxide characterized by working in the presence of mutuel solvents.





